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def jadval():

pu()
goto(-150, 150)
pd()
for j in range(2):
for i in range(3):
£d(300)
bk (300)
rt(90)
fd(100)
1t(90)
fd(300)
bk (300)
1t(90)

-

def oBekesh(i, j):

pu()

x = (j-1) * 100
y = -(i-1) * 100
home ()

goto(x, y-45)
pd()

circle(45)

def bord():

f=0
for i in range(3):
# b phu oSS
if a[i][@]==a[i][1]
f = a[i][@]
# s SSy
if a[e][i]==a[1][1]
f = af[e][i]
# ki 0 S Sy
if a[@][e]==a[1][1] and
f = af[e][o]
if a[2][@]==a[1][1] and
f = a[2][e]
if £ > e:
if f==1:

and a[i][@]==a[i][2]:

and a[@][i]==a[2][i]:

a[e][e]==a[2][2]:
a[2][e]==a[0][2]:

print('0O barande ast')

else:

print('X barande ast')

exit()
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def keshidanP1(x, y, j):
P1l.pu()
P1.home()
P1.goto(x, y-25)
P1l.pd()
Pl.circle(25)
P1l.pu()
P1.goto(x, y-10)
P1l.pd()
Pl.circle(10)
P1l.pu()
P1.goto(x, y)
P1.rt(j*90)
P1l.pd()
P1.fd(25)

all

def plBoroBala():
global y1
yl =yl + 5
Pl.clear()
keshidanP1(x1, y1, jl1)

def plRastGard(): -

global j1
j1 = j1 + 1
if j1 == 4:
jl =19
Pl.clear()
keshidanP1(x1, y1, jl)

def plShelik():

global t

if t==0:
Tirl.home()
Tirl.rt(j1%*90)
Tirl.goto(x1, yl)
Tirl.showturtle()

if t<20:
Tirl.fd(10)
t = t+1

ontimer(plShelik, 10)

else:
t =0
Tirl.hideturtle()
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a
b

input()
input()

# Jubd}\ﬁﬂ.q).)}blﬁ)iﬁ)é\sh\ﬁwg)\s
if len(a)<len(b):

c=a

a=m>b

b=c

# QA g ol

b = '0"*(len(a) - len(b)) + b
print(a)

print(b)

all

# o
k = len(a) - 1
ans n
d =
for i in range(len(a)):
= int(a[k]) + int(b[k]) + d
=0
if ¢>9 :

c = c-10
=1
str(c) + ans
-1

QN - O

ans
K =
if d==1:
ans = str(d) + ans
print(ans)

~ I

#erderhoa

ans = "'

c=20

for i in range(len(a)):
c = int(a[len(a)-1-i]) + int(b[len(a)-1-i]) + (c//10)
ans = str(c%10) + ans

if (c//10)==1:
ans = '1' + ans
print(ans)
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